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QUESTION 1

Which three elements should be configured by a vSphere administrator after creating vSphere Namespace? (Choose
three.) 

A. Permissions 

B. Capacity and Usage limits 

C. License 

D. Namespace name 

E. Storage Policy 

F. NSX Segment 

Correct Answer: ABD 

 

QUESTION 2

Which kubectl command is used to list al pods in the current active namespace? 

A. kubectl get nodes 

B. kubectl get pods 

C. kubectl get services 

D. kubectl list pods 

Correct Answer: B 

 

QUESTION 3

How is information found about all Kubernetes Persistent Volumes in a vSphere environment? 

A. Navigating to the Cloud Native Storage view in vCenter Server 

B. Using: kubectl get persistentvolumes 

C. Accessing the FCD folder on a Datastore 

D. Using: esxcli storage cloud native get 

Correct Answer: A 

 

QUESTION 4
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Which two functions are provided by the NSX Container Rug-in (NCP)? (Choose two.) 

A. Implements Kubernetes Ingress with an NSX-T layer 7 load balancer 

B. Integrates with container-based PaaS such as Docker 

C. Creates an NSX-T logical topology for a Kubernetes cluster and a separate logical network for each Kubernetes
namespace 

D. Configures Overlay Transport Zones 

E. Implements Kubernetes Ingress with an NSX-T layer 4 load balancer 

Correct Answer: AC 

 

QUESTION 5

What is the minimum number of virtual distributed portgroups that must be configured on the vSphere Distributed Switch
before enabling Workload Management using the vSphere networking stack and a HAProxyload balancer? 

A. 2 

B. 1 

C. 4 

D. 3 

Correct Answer: A 
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